DU MPhil PhD in Punjabi

Topic:- PUN MPHIL S2

1) st 37 - fefamrahat e At ged ?
[Question ID = 9517]

1. ff. 37 ffy w3 3n.9wslg i [Option ID = 38062]

2. JAfres ity ynrg w3 . 7T ity [Option ID = 38063]
3. 3. g fify 5977 w3 S gAY [Option ID = 38064]
4. A3 fify ¥ w3 . Ifg9rs iy [Option ID = 38065]

Correct Answer :-

o J7fIfed fify wnrg w3 . war fy [Option ID = 38063]

2) UAE €y, 8, €, O, 3 gah ©f @uds fedt st 3 ?
[Question ID = 9518]

1. »RllE WBWYE [Option ID = 38066]

2. HE WBWYE [Option ID = 38067]

3. il HIn'E [Option ID = 38068]

4. 7IH HIYE [Option ID = 38069]

Correct Answer :-
o T HIE [Option ID = 38069]

3) fan feves & ufas! @9 w7 © fefamresd wifmls (WU UMe .St ) Sifr feg dm &3 ?

[Question ID = 9519]
1. 7IH IMITAS

[Option ID = 38070]
2. 3. S&IH ©H A6

[Option ID = 38071]
3. 3. g8 IH JUIT

[Option ID = 38072]
4. 3. ggsg iy /g

[Option ID = 38073]

Correct Answer :-

o 3. T3s9 iy Ay
[Option ID = 38073]

4) fagt g&t yauat 3 2
[Question ID = 9520]
1. 3 [Option ID = 38074]
2. 3 [Option ID = 38075]
3. F [Option ID = 38076]
4. ¥ [Option ID = 38077]

Correct Answer :-
e 3 [Option ID = 38074]

5) ‘faon" AeEE far QU e 3 ?
[Question ID = 9521]

1. WSt [Option ID = 38078]

2. HI=E [Option ID = 38079]

3. ywrit [Option ID = 38080]

4. T [Option ID = 38081]

Correct Answer :-
e Tt [Option ID = 38080]

6) fao3 Aeg &% feilt sarug ferdws gEd ?

[Question ID = 9522]
1. 9

[Option ID = 38082]

2. fo



[Option ID = 38083]
3. 8

[Option ID = 38084]
4. €

[Option ID = 38085]

Correct Answer :-

o fo
[Option ID = 38083]

7) UAs Afg3 wdger © fefson unsa e sua s 9 7

[Question ID = 9523]
1. 3. o9 fiy

[Option ID = 38086]
2. 3. HarEg iy

[Option ID = 38087]
3. 3. IfgsHs fi I

[Option ID = 38088]
4. 3. Ifgsvs ity

[Option ID = 38089]

Correct Answer :-

o 3. IfFsTs iy I
[Option ID = 38088]

8) 'tlurs" 3 foorg; faA T AaIBU I ?
[Question ID = 9524]

1. IH& AdHE® [Option ID = 38090]

2. 3H IHAST [Option ID = 38091]

3. B AH [Option ID = 38092]
4. wTHEJ [Option ID = 38093]

Correct Answer :-

e BH IHAST [Option ID = 38091]

9) Barar feg wifon ghrar far & 3 2
[Question ID = 9525]

1. fena3t femm < [Option ID = 38094]

2. YJre S S [Option ID = 38095]

3. 3 H& T [Option ID = 38096]

4. Oz 8 & [Option ID = 38097]

Correct Answer :-
e B & T [Option ID = 38096]

10) ©3 JE T WOT 9....
[Question ID = 9526]

1. fof39A 3 &3t [Option ID = 38098]
2. fafsgm 3 fiiF [Option ID = 38099]
3. {8 3 43 [Option ID = 38100]

4. 313t 3 Y3 [Option ID = 38101]

Correct Answer :-
o faf3gH 3 fHE [Option ID = 38099]

1) faogr gendtadi 32

[Question ID = 9527]

1. 33 e & fgre Yfafanr-argg fy [Option 1D = 38102]

2. [ior -A. A. <=9 g [Option ID = 38103]

3. Ua" B 39 313 - Higeg fiwy Iare [Option ID = 38104]

4. A9 UZ - JIfE3 fAw [Option ID = 38105]

Correct Answer :-
o fJior -H. A. T=A9" 51 [Option ID = 38103]

12) UA=t Afgwree e Yy us=-fog fagar 3 7

[Question ID = 9528]



. f3ior ga13T [Option ID = 38106]
Gaur [Option ID = 38107]

. ygergrt [Option ID = 38108]

. E5ar3t[Option ID = 38109]

A W N -

Correct Answer :-

e ygegat [Option ID = 38108]
13) SOICH RIS A WS ... A F?
[Question ID = 9529]

. TH&E! [Option ID = 38110]

. W3 [Option ID = 38111]

HJJT [Option ID = 38112]

2L [Option ID = 38113]

A W N -

Correct Answer :-
e HIII [Option ID = 38112]

14) 7Y M Afog S5 Sus™ fan g1 feg Iot It I 2
[Question ID = 9530]

. fHSt 31 [Option ID = 38114]

. T&AIT I4T [Option ID = 38115]

HBII I97 [Option ID = 38116]

. fo &9 3 &t [Option ID = 38117]

A w N =

Correct Answer :-

o fo &9 I &t [Option ID = 38117]

15) wofeasT € AEg fan &8 3 ?
[Question ID = 9531]

1. TA3ErS [Option ID = 38118]

2. GeufaE3T [Option ID = 38119]

3. AH3<< [Option ID = 38120]

4. foa &5 J€ odf [Option ID = 38121]

Correct Answer :-

e T3 [Option ID = 38119]

16) A T wftr3Ha ufgs T wrust ==t feg fan g a<t gwrer dr st ardt 3 2

[Question ID = 9532]

. IJ IHEH it [Option ID = 38122]

. I "I i [Option ID = 38123]

. Ig & T i [Option ID = 38124]

. g 391 5T i [Option ID = 38125]

A W N -

Correct Answer :-

o Jig WHITH I [Option ID = 38123]

17) w399 &aa yaifewr, & g #Afar st I, M8 afg gan faafenr 33 sfu widg udw feg faa waag T y@H 3 ?
[Question ID = 9533]

1. BuHT [Option ID = 38126]

2. "H3Z3 [Option ID = 38127]

3. @3femr [Option ID = 38128]

4. fgmets [Option ID = 38129]

Correct Answer :-
° ﬁ’c:Fl?E [Option ID = 38129]

18) H'J gAa Tt e & Yy wagt dt I ?
[Question ID = 9534]

. IIH gg3t [Option ID = 38130]

. 3i=g fewdr =& [Option ID = 38131]

. 8u=H & yurs3T [Option ID = 38132]

. AIMIZ T fegg [Option ID = 38133]

A w N =

Correct Answer :-
e 3t=g fewiar 7= [Option ID = 38131]

19) fagzr gFerAdt 3 ?

[Question ID = 9535]

1. g8 °d - 784 [Option ID = 38134]

2. HY gJe - I=dt [Option ID = 38135]

3. H'J gHS - HBHIT [Option ID = 38136]
4. HB3'& =g - fgmst [Option ID = 38137]



Correct Answer :-

e TJ gAS - H™H3T [Option ID = 38136]

20) A3 © FOHAS! e fegnfaRn At St S Ae RS 3 €6 3 7
[Question ID = 9536]

1. S8 [Option ID = 38138]

2. TJ HI<E [Option ID = 38139]

3. T gR® [Option ID = 38140]

4. =+ie [Option ID = 38141]

Correct Answer :-
e ST TI [Option ID = 38138]
21) feesg @ ggs I ?
[Question ID = 9537]
. g8 &9 fAw [Option ID = 38142]
. AA<3 fiw <5 [Option ID = 38143]
. A fAY HI3S [Option ID = 38144]
. &ad fify [Option ID = 38145]

A w N =

Correct Answer :-
e 37&d AW [Option ID = 38145]

22) A Aae A Je fagd mEe IS AR I ?
[Question ID = 9538]

He [Option ID = 38146]

FE [Option ID = 38147]

FeT [Option ID = 38148]

. fo &9 3 &t [Option ID = 38149]

AW N =

Correct Answer :-
® Hc [Option ID = 38146]

23) fefsoAa 39 '3 FEh T fagar P AR 3 2

[Question ID = 9539]

I gRG, I Tdie, §B3'6 I'g, 98 7Y, W& Jed [Option ID = 38150]
T gdie, 7 IR, BB3'S §'Y, ¥8 7Y, wE Ie3 [Option ID = 38151]
T gdie, 7Y gHG, B83'6 I, WEt 9ed, §8|J [Option ID = 38152]
T gdie, B gAG, Wt JT9, B853S 9g, 8 FJ [Option ID = 38153]

A W N -

Correct Answer :-
o =T gdie, A gHo, B83S 9Y, I8 WY, @ JeJ [Option ID = 38151]

24) ‘At yg'© farr 7 3 ufos’ AuSs gu feg fam S a<t e fafimr fiser 3 2
[Question ID = 9540]

. 9= fiw [Option ID = 38154]

. TTHH [Option ID = 38155]

. Yad [Option ID = 38156]

. Trfew S95Id [Option ID = 38157]

A W N -

Correct Answer :-
e Jrfer S9HIEd [Option ID = 38157]

25) Js fofemit T faagr TeAdt st 3 ?
[Question ID = 9541]

1. YJ< HIS I&: Yad [Option ID = 38158]

2. HI® TF:EHET [Option ID = 38159]

3. fUS® Ha1S S IHA [Option ID = 38160]

4. fHY I I3 Fregug [Option ID = 38161]

Correct Answer :-

o fUES" HeIE S: IHH [Option ID = 38160]

26) 'FI HIHT fev U @ Hl, a° ad1 /Mt ARt T3 v few B9 yoke @ RSt A3 faw & wrfimr 32
[Question ID = 9542]

1. IS [Option ID = 38162]

2. 399 [Option ID = 38163]

3. Wgars [Option ID = 38164]

4. 2J4t [Option ID = 38165]

Correct Answer :-
e ZJdTt [Option ID = 38165]



27) I35 fofumit & fagg gendt 3 ?
[Question ID = 9543]

1. JHA : AAT : T2EMI [Option ID = 38166]

2. TIATT : HAT UG T8 [Option ID = 38167]

3. Wy : fiygwr Arfosr : fiaeSt [Option ID = 38168]

4, gfen S999eg : Ji9 937 : §3 [Option ID = 38169]

Correct Answer :-

e IJHH : AAT : E=8M [Option ID = 38166]

28) "UAe @ 99 uguar (wfe 95 3 wgfed 95 39)' fan feees S yAsa 3 ?
[Question ID = 9544]

1. 3. & fiw [Option ID = 38170]

2. & Ay fgmrat [Option ID = 38171]

3. H: THAT fAW wid [Option ID = 38172]

4. 313" Ay [Option ID = 38173]

Correct Answer :-
o I3 fHw fgmrdt [Option ID = 38171]

29) vt Bt arfe © fefsow yRsd e ua A= 3 ?
[Question ID = 9545]
. Jofed fity fed [Option ID = 38174]
. IB=3 fifw [Option ID = 38175]
. JIgT< fAY [Option ID = 38176]
. 2fEeg Ay [Option ID = 38177]

AWN—\

Correct Answer :-

e JiIe< fHY [Option ID = 38176]

30) famr arfe feg faga i dge adt ger?
[Question ID = 9546]

1. < wH [Option ID = 38178]

2. It [Option ID = 38179]

3. JHcSt dige [Option ID = 38180]

4. Fw=r3t ¥ A% [Option ID = 38181]

Correct Answer :-

e gHedt 9T [Option ID = 38180]

31) At g<egs -

[Question ID = 9547]

1. WrETgMT 3THT : /=W HIHTAT [Option ID = 38182]

2. U339+ 916 &8 : Jfe waag [Option ID = 38183]
3. W g HHE : e Y [Option ID = 38184]

4. 2T IHAT : HIARS! J&7gge [Option ID = 38185]

Correct Answer :-

o nrgrdr HHE : JfE YaH [Option ID = 38184]

32) I3 forim yAza fed faadt @ uAsa daarad & fAgisd Aredrat &% AEU3 &df 96 ?
(8) Urrsit 91 Feds

() 89 : fAgi3 3 feeag

(8) ur=h g © fefsaw

(7) Afa3 - 899 3 Afa3 - w3geT

[Question ID = 9548]
1. )3 (¥)

[Option ID = 38186]
2. @3 @)

[Option ID = 38187]
3. 83 ©

[Option ID = 38188]
4. A3 M)

[Option ID = 38189]
Correct Answer :-
e (¥)3 (©)

[Option ID = 38188]



33) dineg ged oe T oed 'Y BT 993 westH ared € a5 €3 wrfa3g 3 2
[Question ID = 9549]

1. €33 [Option ID = 38190]

2. HiF#A [Option ID = 38191]

3. HIg< Wg S&H [Option ID = 38192]

4. T Y€z W3 ygfsA [Option ID = 38193]

Correct Answer :-

e HITe wg ASH [Option ID = 38192]

34) ‘&9 A I3 T G s faA T 9967 I ?
[Question ID = 9550]

. I3 fAW AST [Option ID = 38194]

. g fHW W= [Option ID = 38195]

. SZE3 Ira4i [Option ID = 38196]

. A3 AW AT [Option ID = 38197]

A wWw N -

Correct Answer :-

o HIHI3 fAY AT [Option ID = 38194]

35) WEASS & - AV TB FCA T HT - TAF Al gET I ?
[Question ID = 9551]

1. WIg3 - HIT A=Y [Option ID = 38198]

2. Adigest fegmer [Option ID = 38199]

3. fg@eT'g [Option ID = 38200]

4. Hiea S wigEJtEsT [Option ID = 38201]

Correct Answer :-

o i T wIEIE3™ [Option ID = 38201]

36) 'Hea wre agiifsdt T ue ferfemrarg g 3 2
[Question ID = 9552]

1. 43 [Option ID = 38202]

2. 9 [Option ID = 38203]

3. wWg3 [Option ID = 38204]

4. wgAZ [Option ID = 38205]

Correct Answer :-
e g3 [Option ID = 38204]

37) ot Qus feg efe3' @ Hivs g fan & fasfowr 3 2
[Question ID = 9553]

. =%<3 Irgan [Option ID = 38206]

. 99&<H fHY [Option ID = 38207]

. JYd TR WiE [Option ID = 38208]

. JITIs W [Option ID = 38209]

A W N -

Correct Answer :-
° Wfﬂg [Option ID = 38207]

38) faA wBea 3 JIHf3 Aoz feod fesasmt Uy g @afanr ?
[Question ID = 9554]

. A3 AW ™ [Option ID = 38210]

. fawe fify [Option ID = 38211]

. Ifgs7s fiw [Option ID = 38212]

. w33 fify [Option ID = 38213]

A w N =

Correct Answer :-

o fgH® AW [Option ID = 38211]

39) 'guat ARSI T BHI AT J ?
[Question ID = 9555]

. Ifgs7s fiw [Option ID = 38214]

. JiggHs fHYy IEmim [Option ID = 38215]
. W33 fAY [Option ID = 38216]

. A3 fAy M [Option ID = 38217]

AW N =

Correct Answer :-

e IgsA fi [Option ID = 38214]

40) wi3dtE yrsa €3 fan g Afa3 warelt e yararg fifenr 3 ?
[Question ID = 9556]



. =fgmH HY [Option ID = 38218]

. fg9us s [Option ID = 38219]
. 19I& g3t [Option ID = 38220]
&E39 [Option ID = 38221]

A WN -

Correct Answer :-
o fJ3u® Jd [Option ID = 38219]

41) SIESS ga3'-faarag 3 ForsEt feus oo 3ua I ¢
[Question ID = 9557]

. W3 39 [Option ID = 38222]

. §& fAY [Option ID = 38223]

. 9339 fHY €915 [Option ID = 38224]

. gz<3 fify fegar [Option ID = 38225]

A W N -

Correct Answer :-
e II3'I fHW TIIS [Option ID = 38224]
42) fon 3 & g9« feo fify goAeT 3 EEieT o ais fiser 3 ?
[Question ID = 9558]
Y3 AW [Option ID = 38226]
. =t &g fifw [Option ID = 38227]
g% §5E3 [Option ID = 38228]
. i3+ Ry A9 [Option ID = 38229]

A w N =

Correct Answer :-

o i3 fiy A9 [Option ID = 38229]

43) fagzr gendt 3 ?

[Question ID = 9559]

1. age & 9 WIS : AR=S Ay 33Tt [Option ID = 38230]
2. FInHis : Ifgsms fAw [Option ID = 38231]

3. 3T g @< : file gHg [Option ID = 38232]

4. §@39fes : wAAI 32 [Option ID = 38233]

Correct Answer :-
o gz & 89 HIIS : AATS fy Bt [Option ID = 38230]

44) HTW3T faA © ASIeH I ?
[Question ID = 9560]

. g fHW W= [Option ID = 38234]

. JI9=9& [Option ID = 38235]

. J959% fify &I [Option ID = 38236]
4. R 37 fHy [Option ID = 38237]

w N =

Correct Answer :-
e JIEI& [Option ID = 38235]

45) W QEMr St 3 ?

[Question ID = 9561]

1. HIS= T I3 [Option ID = 38238]
2. HIIGT 2 i3 [Option ID = 38239]

3. ¥3 HIJ T i3 [Option ID = 38240]
4. A&H T 313 [Option ID = 38241]

Correct Answer :-
e W3 HIJ T I3 [Option ID = 38240]

46) fam T WO Yuee<t U arfe oot 578 &1 3 ?
[Question ID = 9562]

. T©IASG fAw wrergr [Option ID = 38242]

. WAEs IHS [Option ID = 38243]

. PHUSET fAl IAI3 [Option ID = 38244]

. Jf<eg 3= [Option ID = 38245]

A w N =

Correct Answer :-
o TIHG fHY wrErgr [Option ID = 38242]

47) N33R W3 fafesdnns’ yAsa o Sud dt 3 ?
[Question ID = 9563]

. W 2fger [Option ID = 38246]

. 3H DHAS [Option ID = 38247]

. fiii® g [Option ID = 38248]

. g®mr At [Option ID = 38249]

A WN -



Correct Answer :-

o fiRs got [Option ID = 38248]

48) "UA=R @rfEgt T 39adT; YASH T 9937 ©A ?
[Question ID = 9564]

1. J9=9S [Option ID = 38250]

2. STBHILI IHTLHS [Option ID = 38251]

3. s=rgufAy [Option ID = 38252]

4. Yo SHH gH3" [Option ID = 38253]

Correct Answer :-
e o =SHH gH3T [Option ID = 38253]

49) =l Lol
1) I MHIFEA
Sy fHg dimfe
o) HITHT 2) I A T2 1l
) AT 2) I WIS T2 Hl
7 =9 g 4) g THEH HI
ugas T A fHe's a3

[Question ID = 10285]

1. ©-1; -3 ; €-2; H-4 [Option ID = 41134]
2. ©-2; -3 ;€4 ; H-1[Option ID = 41135]
3. €-3;w-4;¥-1; A-2 [Option ID = 41136]
4. 8-4 ;-2 ;€-3; A-1 [Option ID = 41137]

Correct Answer :-
e ©-2;%-3; E-4; H-1 [Option ID = 41135]

- | ot - |

S HIW I fest 1)y W & 5
) A= THU 2) Yrre] w2z
T 31 Afdeg iy s 59 AT i3

) T gafes fiu 4) g €t He o
Sudas T At figs a9

[Question ID = 10286]

1. ©-2;W-4; €-1; H-3 [Option ID = 41138]
2. 8-1;-2; 8-3; A-4 [Option ID = 41139]
3. ©-2; -3 ; €4 ; H-1 [Option ID = 41140]
4. 8-4 ;-3 ; €-1; H-2 [Option ID = 41141]

Correct Answer :-
e §-2 ;-4 ;E-1; H-3 [Option ID = 41138]





